Page 17

Wex KSMJT #6 soli g
Ja) Ty = X S( %%3%4@

—2 3/
D)= %4 g+ @4 C
C\J?fx\:mm Lr@% - sl o

) U= G 2x, L 26a1] = +/x\:;—€X7*2X 1

e T )= YSN\(\(\%C (T poduct nle \

— 2
2) I -‘%—\ %% 4 C =>3:tF/o\ C =>Fx :%Jr%)ag

i
,></5

b\ﬂx\ L,/3 v C90= T & < = %—,13% C=> (=873
=> rx\ = pan 2 A, D75

CB fXSM(ﬂ\Ql\( ll\/bﬁ(ét/\o/\ by, (/é/_b
U=x ( AU = dx
d1r= 50 [Mx\Aw 17= - C@%ﬂx&x

?X\:_q(@?r(vx\ jﬁC@S(ﬁXQ{X‘ X(Cfvm)( jm(TT \—FC

: TT/z\
S :4/_(22\%[ DT < O e
=> C= o° iy

_ XKDS@TX sin(Tx|
T s + 3+




